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I Analysis of XonnR in v mwn
a  Extension: Xn 9”2 n11 - even if it is 10 days later
b Potential: 17ar "1 — if circumstance allows for Xonnx, we assume it
i Challenge (899 3): our nwn requires an actual RynnR
1 Answer: it requires a circumstance which allows for Ronnr
ii ~ Challenge (9775 82775 ”7): 3> min2 — if she was told her husband was dead, accepted "1’p and her husband returned
1 Then: she is allowed to return to him —
2 Implication: we assume a *Rin on the 2" pv1p (i.e. we “generate” an Ronny)
3 Defense: in that case, the husband’s appearance is the active challenge to her pvyrp
(a) Challenge: if so, why do we not say the same if she had full pryw» with the 274?
(b) Answer: since she committed a violation (nx’a with 2°d husband) she is penalized
Confirmation: oR "1 — any 9p which isn’t confirmed in a 7 aisn’t a valid (and actionable) 5 p
d  Context: "oR "1 — any 5p after she is married is ignored
i Implication: if it came out after o1V (but before Pr1v1) we give it credence
ii  Practicum: even if only after 01X we ignore it
e  Question: posed to YRmw — if a 91p went out that she was nw1pnn to P1, then P2 was wpn her properly...
i Answer (58192): she must leave P2, “and clarify the matter and inform me”
1 Cannot mean: if we find out that the P1’s pwy1p weren’t valid, we quash the 9p
(a) Reason: HRnV’s city is XpT1In1, where (per above), they don’t quash a 5p

0

2 Rather: means that if we find out that P1’s pwy1'p were valid, she doesn’t require a v3 from P2
(a) Contra: ®1n "1 —if a married woman accepts Pw11’p, we consider it valid
(i)  Per: xmnn "’s nptn that a married woman can’t state »anw if it isn’t true
(b) Opposite position (5x81p¥): that npn only applies when facing the husband
3 Question: what happens if they can’t clarify status of P1’s pwymp?
(a) a»7 71 P1divorces her and P2 may marry her, but not the inverse
(i) Reason: it looks as if we're permitting 101181 10 MWV TN
(b) »7x 77 71773 222w /7. she may even accept 03 from P2 and marry P1
(i) Defense: people will assume that the rabbis checked into it and found P2’s pw1mp to be myva
ii  Variation: if there is a 9p of WP to both of them —
1 ~99’7in this case, as well, only may marry P2 and get v from P1 (but not inverse, as above)
2 79pN she may marry either (na%n 127)
II > mwn: Dispute n”12/v"a over latitude in granting permission for pwy
a w72 may only divorce for suspicion (or proof) of adultery, per vl
i an793 927 My, per v2 —only nmoR if there is clear testimony to her adultery
b /772 may even divorce for domestic differences (per 127 in v1)
i Ar7732 reads both mAy and 927 as necessary:
1 /m to allow a woman divorced due to m1y to remarry
2 727 to allow divorce for even domestic incompatibility
¢ y”reven if he finds another woman to be more attractive, per v1
i Dispute: rests on meaning of 3" (v1) (v"a - because; y™ — rather)
d 37 may divorce for “no reason”, inferred from v3 — if he wants to divorce but keeps her, violates v4
III Homiletic lessons about divorce; about evils about divorce for innocent behavior and lauding divorce for gross violations
a  and: evil of 274 man for taking such a woman in — and the likely outcome (v1) - and lessons from v5
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